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Jeunes étudiants : soyez responsables!

Dans sa lutte pour améliorer la sécurité routiére, la YASA (association fondée depuis 20 ans) accorde
une grande importance a la sensibilisation des jeunes Libanais dans les universités publiques et privées.

Les jeunes, premiéres victimes de la route

« Partout dans le monde, les jeunes sont les
plus concernés par les accidents routiers. En
principe, tout le monde est touché: les
enfants, les nouveau-nés, les adultes mais
chez les jeunes, le risque est plus élevé »,
affirme le fondateur de la YASA.

Derriére cette situation, il existe de
multiples raisons: de nombreux jeunes
obtiennent leur permis de conduire sans
passer d’examen, ou bien, lorsque leur
conduite est évaluée, le test n’est pas trés
sérieux. En plus, rares sont les jeunes qui
connaissent le code de la sécurité routiére.

Les activités de sensibilisation

Dans les universités, la YASA organise des
conférences, des activités, des simulations’
qui visent a faire parvenir son message.
« Dans ces établissements, trés souvent, on
nous consulte pour ftravailler sur la
sensibilisation des chauffeurs des autobus
scolaires aux facteurs de risques routiers. La
responsabilisation en matiére de sécurité
routiére se fait également via des réseaux
sociaux, trés utilisés par les jeunes : nous
passons sur différentes chaines télévisées et a
la radio. Elle se fait aussi a travers les
publicités, les panneaux routiers et les
publications que nous distribuons un peu
partout au Liban, tous les moyens sont bons

1.
2. Préceptes

30

35

40

45

50

55

I- Questions : (12 points dont 0,5 pour la présentation)

1-

En vous référant au paratexte :

pour essayer d’influencer les jeunes. Nous
utilisons les facteurs psychologiques, les
messages directs, des images choquantes, des
célébrités, etc. Tout cela dans le but d’arriver
a faire une différence dans les
comportements & risque des jeunes »,
explique le fondateur de ’association.

Un code non appliqué

« La nouvelle loi, publiée depuis novembre
2012, demeure inappliquée. Des accidents se
produisent tous les jours et des gens en
meurent. C’est pourquoi, le taux de mortalité
au Liban dans les accidents routiers est
considéré I'un des plus élevés au monde.
Nous effectuons un  sérieux travail de
sensibilisation sur le terrain mais sans
P’application du nouveau code de sécurité
routiére, la mission- de la YASA reste
incompléte », insiste-t-il.

«Jeunes, gardez en téte que, au volant,
chacun de nous est responsable, engagé, et
doit se considérer comme personne a risque.
Observez les pre’:c:epte:s2 du code de la route :
mettre la ceinture de sécurité, ne pas utiliser le
téléphone portable en conduisant, ne pas
conduire en état d’ivresse, respecter les
signalisations et les limites de vitesse. Pensez
a vos parents », conclut-il.

D’aprés R. Raphaél, L’Orient — Le Jour,
29 mars 2014

Simulations : représentations qui imitent d’une maniére réelle une action, un phénomeéne.
: énoncés qui enseignent les régles de conduite.

a- Identifiez la nature de ce document et justifiez votre réponse par deux indices précis. 1pt
b- Précisez-en le destinataire. 0,5 pt
Lisez le texte et le paratexte, puis choisissez et recopiez la bonne réponse : 1pt

a..
b-

La YASA est fondée :- récemment en mars 2014
L’association YASA vise a : - diffuser uniquement les causes mortelles des accidents routiers.

- depuis une vingtaine d’années - en novembre 2012

- inciter les directeurs d’établissements scolaires a publier un code routier.
- réduire les dangers et les risques des accidents routiers.
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3- En vous référant au texte et aux intertitres, dites si les affirmations suivantes sont vraies ou 1,5 pts
fausses et justifiez chacune d’elles en citant le texte.
a- Les chauffeurs de bus scolaires sont les victimes les plus exposées aux accidents de la route.
b- La YASA organise des activités de sensibilisation dans les écoles.
¢c- La YASA ne peut pas réussir sa mission sans I’application du nouveau code de la route.
4- a- Recopiez et remplissez le tableau suivant par des informations tirées de la partie « Les 2 pts
jeunes, premiéres victimes de la route » (L.1 4 L.13)
| Le probléme exposé dans le texte | Les causes
b- D’aprés ce relevé, la préparation des jeunes a la conduite est-elle suffisante, insuffisante ou 0,5 pt
absente?
5- a- Relevez dans les lignes 14 a 32 deux énumérations et dites ce qu’elles montrent quant 1pt
au role de la YASA.
b- D’aprés vous, quel est le moyen le plus efficace pour communiquer avec la jeunesse? 0,5 pt
Pourquoi ?
6- Lisez la partie « Un code non appliqué » puis répondez.
a- Précisez le référent du pronom « nous » (L.42) et celui de « nous » (L.48). 0,5 pt
b- Reliez les deux phrases « La nouvelle loi... demeure inappliquée » et « Des accidents...en 0,5 pt
meurent » (L.36-39) par un connecteur logique convenable et donnez sa valeur.
¢~ Identifiez la valeur des deux points a la ligne 50. 0,5 pt
d- Donnez la valeur de 'impératif « gardez » (L.47) « observez » (L.50) et « pensez » (L.54). 0,5 pt
e- Reformulez le message du fondateur de P’association de la YASA en vous basant sur ¢ et d. 0,5 pt
7- Lisez tout le texte puis choisissez et recopiez la bonne réponse. Cet article est écrit pour : 1pt

- informer et expliquer en vue d’éveiller les lecteurs et de les responsabiliser au volant.
- décrire des accidents routiers fréquents et meurtriers sur les autoroutes.

- faire une enquéte exclusive sur les partenaires nationaux de I’association de la YASA.

I1- Production écrite (8 points dont 0,5 pour la présentation). Traitez ’un des deux sujets :

Sujet 1: Votre municipalité vous demande d’organiser une conférence pour sensibiliser les jeunes de
votre quartier aux dangers qui les menacent aujourd’hui (I’alcool, la violence, le tabagisme, la dépendance
a I’écran,...). Choisissez I’un de ces dangers. Expliquez les causes qui le provoquent et ses conséquences
sur leur comportement/vie. Puis avancez deux conseils aux jeunes de votre age.

Votre texte fera entre 18 et 25 lignes (avec +/-10%), ce qui équivaut a 180-250 mots dans une écriture

moyenne.

Sujet 2 : Suite 4 une visite de la YASA dans votre école, votre enseignant(e) vous demande de choisir un
métier qui a pour réle d’aider/ de secourir les personnes touchées par les accidents (médecin, infirmier,
secouriste, pompier, ...). Justifiez votre choix a vos amis de classe en présentant le profil de ce métier, les
services qu’il peut offrir aux blessés d’accident.

Votre texte fera entre 18 et 25 lignes (avec +/-10%), ce qui équivaut & 180-250 mots dans une écriture
moyenne.

Les critéres Notes
Pertinence ou adéquation 4 la situation et a la consigne | 2.5points
Coheérence 2,5points
Utilisation correcte des outils de la langue 2,5points
Mise en page et lisibilité 0.5point
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Questions

Réponses

Notes

1-a

Ce texte est un article de presse.

Justification :

- la référence : nom du journal, nom du quotidien « 1’Orient - Le Jour », la date de
la publication « 29 mars 2014 »

- la mise en page du texte : la disposition du texte en deux colonnes

0.5 pt
0.25 ptx2

1-b

Le destinataire est : les jeunes étudiants et le lecteur intéressé du quotidien
L’Orient-Le Jour.

* Dans le cas ou le candidat donne comme réponse « Lecteurs », on lui accorde la
moitié de la note (0.25pt).

0.5 pt

2-a

La YASA est fondée depuis une vingtaine d’années

0.5 pt

2-b

L’association YASA vise a réduire les dangers et les risques des accidents
routiers.

0.5 pt

Les chauffeurs de bus scolaires sont les victimes les plus exposées aux accidents

de la route : Faux.
Justification : « Les jeunes, premiéres victimes de la route » (intertitre) /
« les jeunes sont les plus concernés par les accidents routiers. » (L.1-2)

* Ne pas accorder de points si la justification ne correspond pas a la réponse

0.5 pt

La YASA organise des activités de sensibilisation dans les écoles : Faux.
Justification : « Dans les universités, la YASA organise des conférences, des
activités, des simulations qui visent a faire parvenir son message. » (L.14-15-16)
* Ne pas accorder de points si la [ustification ne correspond pas a la réponse

0.5pt

La YASA ne peut pas réussir sa mission sans [’application du nouveau code de la

route : Vrai.
Justification : « sans I’application du nouveau code de sécurité routiére, notre

mission reste incompléte. » (L.43-46)

* Ne pas accorder de points si la justification ne correspond pas a la réponse

0.5 pt

Le probléme exposé dans le texte Les causes

-les accidents routiers (L.2) - de nombreux jeunes obtiennent leur
permis de conduire sans passer d’examen.
(L.8-10)

- lorsque leur conduite est évaluée, le test
n’est pas trés sérieux. (L.10-12)

- rares sont les jeunes qui connaissent le

code de la sécurité routiére. (L.12-13)

0.5 pt x4

4-b

La préparation des jeunes a la conduite est insuffisante.

0.5 pt

5-a

Les énumérations sont :

- « des conférences, des activités, des simulations.» (L.15)

- « les publicités, les panneaux routiers et les publications. » (L.26-27)

- «les facteurs psychologiques, les messages directs, des images choquantes,
des célébrités. » (L.30-32)

(le candidat reléve deux énumérations de trois)

Ces énumérations mettent en relief la multiplicité / la diversité des moyens que la
YASA utilise pour sensibiliser les jeunes aux risques routiers.

0.25 ptx2

0.5pt

1 125




laploTy A )] Al :dadsl) 3LL)

Réponse libre.

Exemples de réponses attendues :

- le moyen le plus efficace est les réseaux sociaux parce que les jeunes sont
souvent connectés.

- le moyen le plus efficace est les chaines télévisées parce que les jeunes regardent
la télé.

0.5pt

- «nous » (1.42) renvoie au fondateur de I’association (le locuteur) et aux membres
de ’association de la YASA.

- « nous » (1.48) renvoie a tout le monde (valeur généralisante) et inclut le locuteur.

0.25 ptx2

« La nouvelle loi, publiée depuis novembre 2012, demeure inappliquée donc/
c’est pourquoi / par conséquent / par suite / de sorte que/ de maniére que...
les accidents se produisent tous les jours et des gens en meurent. »

Sa valeur : il introduit la conséquence.

0.25 pt

0.25 pt

6-c

Les deux points ont une valeur explicative et introduisent une énumération.

0.25ptx 2

6-d

Le mode impératif exprime les conseils, les recommandations, la priére que le
fondateur de I’association adresse aux jeunes.

0.5 pt

Le fondateur de la YASA invite les jeunes & étre vigilants et responsables de leur
comportement, 4 suivre le réglement de la conduite en sécurité et a respecter le
code de la route.

0.5pt

Cet article est écrit pour :
- informer et expliquer en vue d’éveiller les lecteurs et de les responsabiliser au

volant.

1 pt
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Le Wifi dans le métro’ n’est pas une nécessité, mais un danger

Le 26 juin 2012, le Wifi s'est installé dans le métro parisien. Parce qu'aujourd'hui, il faut
pouvoir se connecter partout, tout le temps, et vite. Parce que la 3G ne suffit plus pour surfer
confortal;lement. Et parce que faire payer, a terme, les utilisateurs, est une activité qui peut s'avérer
lucrative”.

Plus de confort pour lire son journal sur Internet donc, mais aussi plus de risques pour notre
santé. Cela fait des décennies que des études indépendantes montrent les effets indésirables des
champs électromagnétiques. Les mécanismes de contrle biologique de notre corps peuvent étre
atteints, et ce 4 des seuils biens inférieurs aux limites d'exposition actuelles, basées exclusivement sur
les effets thermiques®’. Malheureusement, d'autres études, beaucoup moins indépendantes car
financées par les opérateurs® de téléphonie mobile, viennent souligner le manque de recul sur la
question et font douter de la dangerosité de cette nouvelle technologie.

Mais la réalité est tout autre. Les ondes sont désormais partout, dans les jardins, les
bibliothéques, les restaurants, nul n'est épargné. Nous évoluons au milieu d'un invisible nuage de
pollution, I'¢lectrosmog’, que nous le voulions ou non.

Installer du wifi dans le métro, sans aucune étude d'impact sanitaire préalable, est d'autant plus
dangereux en raison de l'effet « cage de F araday6 » : les ondes se répercutent dans les wagons7 clos
en métal, ce qui a pour effet d'accentuer le niveau d'intensité du champ électromagnétique. Les
tunnels favorisent également la concentration de ces champs, et 12 encore, les effets néfastes sont
amplifiés.

Le Wifi émet des ondes pulsées en permanence. Cela provoque chez les personnes sensibles
des troubles de la mémoire, des maux de téte insupportables, nausées, vertiges, insomnies, et parfois
méme des cancers.

Les personnes souffrant du syndrome8 de 1'électro-hypersensibilité sont de plus en plus
nombreuses. Si elles ne représentent pour l'instant qu'environ 2 % de la population, ce chiffre
pourrait rapidement grimper. Nous sommes déja bombardés en permanence de micro-ondes issues
des antennes relais (GSM, 2G, 3G UMTS, WIMAX...), de téléphones sans fil DECT, de baby-
phones, de réseaux sans fil (WiFi/WLAN) [...]. La demande vient-elle réellement des
consommateurs ou des opérateurs qui savent la créer?

Michéle Rivasi, Députée Européenne, Le Huffington Post, samedi 30 juin 2012

1-Métro: un moyen de transport en commun urbain, le plus souvent souterrain et qui ressemble au train
2- Lucrative: rentable, qui rapporte de I'argent

3- Thermiques: qui se rapportent a la chaleur

4-Opérateurs: personnes qui font fonctionner un appareil ou une machine

5- Electrosmog: effet secondaire indésirable qui survient avec tout appareil et cible électrique et
électronique

6- Cage de Faraday: cage métallique qui permet d'isoler une portion d'espace

7- Wagons: voitures d’un train aménagées pour le transport des hommes, des marchandises, du bétail...
8- Syndrome: ensemble de symptémes signalant une anomalie ou une maladie.
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I-_Questions (10 pts dont 4 pour la présentation)

1- En vous basant sur le texte de Michéle Rivasi et sur le paratexte, choisissez et recopiez la % pt
bonne réponse.
a. Le locuteur traite un sujet qui intéresse:
-uniquement les passagers du métro
-uniquement les Frangais
-’homme moderne victime ou bénéficiaire de la nouvelle technologie

b. Selon le locuteur, I’installation du wifi dans le métro s’avére étre:
- bénéfique - nécessaire - dangereuse

¢. En présence des ondes, les personnes sensibles sont:
-les moins menacées - les seules menacées -les plus menacées

2- Dites, pour chacune des affirmations suivantes, si elle est vraie ou fausse et justifiez quand c’est  1pt %
faux en citant le texte.
a. Selon le locuteur, le bénéficiaire unique de I’installation du Wifi dans le métro est le
consommateur.
b. Les mécanismes de contrble biologique de tout individu sont atteints par les ondes.
c. Les études financées par les opérateurs de téléphonie mobile sont bien fondées.

3-  a.ldentifiez, a partir de la ligne 5, le champ lexical associé au théme du « Wifi » et 1pt¥:
relevez les termes et expressions qui le composent.
b. En vous appuyant sur la réponse obtenue en (a), formulez bri¢vement le propos du ¥ pt
locuteur.
4-  a, Reformulez les deux points de vue qui s'opposent dans le deuxiéme paragraphe. 1pt
b. Lequel des deux points de vue le locuteur soutient-t-i1? Justifiez votre réponse en Ya pt
relevant un adverbe et une locution adverbiale dans ce méme paragraphe.
c. Justifiez ’emploi de I’anaphore qui structure le 1* paragraphe en précisant le role 1pt
qu’elle joue dans I’argumentation. A quel point de vue peut-on la rattacher ?
5- Reformulez I’argument avancé dans le quatriéme paragraphe au service de la thése 1pt
soutenue par Rivasi.
6- a.Donnez la valeur de I’énumération présente dans le demnier paragraphe. ¥ pt
b. Quel effet I'emploi de l'interrogation rhétorique produit-il dans ce méme paragraphe? Y2 pt
II- Production écrite Traitez au choix ’un des sujets proposés. 6pts ¥

Votre texte fera 25 - 40 lignes dans une écriture de taille moyenne (250 - 400 mots, +/- 10%).

Sujet 1: Au Liban, comme partout ailleurs, le wifi est désormais installé dans les bus, les taxis, les
restaurants... Les utilisateurs y recourent pour surfer confortablement et vite. Croyez-vous
que ce soit un bénéfice? Votre réponse prendra la forme d’un développement argumenté
illustré d’exemples.

Sujet 2 : Vos grands- parents vivent a la montagne. Vous décidez, pour rester en contact avec eux, de
les initier 4 1’'usage du téléphone portable ou & I’utilisation d’Internet. Racontez votre exploit
ou votre échec.

Les critéres Les notes
Pertinence ou adéquation a la situation et  la consigne (2 pts)
Cohérence (2 pts)
Utilisation correcte des outils de la langue (2 pts)
Mise en page et lisibilité | (Y2 pt)
1II- (Euvre intégrale 3ptss

Présentez le personnage principal et son parcours dans I’ceuvre que vous avez étudiée cette année.
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Q.
Eléments de réponse Critéres d’évaluation et
notation
Choix de 1a bonne réponse Le candidat recopie la
a.  Lelocuteur traite un sujet qui intéresse: bonne réponse.
- I’homme moderne victime ou bénéficiaire de la
L1 nouvelle technologie. Vi x3 0.75
’ b.  Selon le locuteur, installation du wifi dans le métro ’
s’avére étre :
- dangereuse.
¢.  Enprésence des ondes, les personnes sensibles sont:
- les plus menacées.
a- Faux Le candidat précise
(Les opérateurs bénéficient également de I’installation du si ¢’est vrai
Wifi dans le métro) « parce que faire payer, a terme, les ou faux
utilisateurs, est une activité qui peut s'avérer Ya ptx3
lucrative »(L.3-4) et justifie sa réponse quand
L2 . , 1.75
b- Vrai c’est faux.
¢- Faux Y2 ptx2
Elles sont « moins indépendantes car financées par les
opérateurs de téléphonie mobile » (L.8)
Identification du champ lexical associé au théme du « Wifi » | Le candidat
et relevé des termes et expressions qui le composent identifie le champ lexical
Le champ lexical du danger et du risque: associé au théme
- «risques» L.5 ¥ pt
- «effets indésirables» L.6
- «dangerosité» L..11
- «invisible nuage de pollution» L.13-14 et reléve les termes et
-« électrosmog» L.14 expressions
- «dangereux» L.16 1pt
L3.a - «effets néfastes» .18
- «troubles de la mémoire» L.21
- 1.5
- «maux de téte insupportables» L.21
- «nausées» L.21 Sl/Pttpour 37 y
- «vertiges» L.21 1/: gt gg‘d: 54
- «insomnies» L.21 1 pt pour 312
- «cancers» L.22
- «souffrant du syndrome» L.23
- «bombardés» L.25
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Formulation bréve du propos du locuteur Le candidat formule
bri¢vement le propos du
Le wifi présente de graves dangers, de multiples risques, des | locuteur
effets nocifs, engendrés par I’exposition prolongée du passager ¥ pt
des transports en commun aux ondes électromagnétiques. Sa
1.3.b , S S 0.75
présence indésirable dans le métro influe sur les usagers et non
usagers dont la santé et le bon fonctionnement de I’organisme
sont affectés; ce qui se manifeste par des symptémes
physiologiques visibles comme la fatigue, 1a douleur et le malaise
et par des proliférations cancéreuses.
Reformulation des deux points de vue qui s'opposent Le candidat reformule les
deux points de vue.
Premier point de vue (suite aux études indépendantes faites
depuis des décennies):
- Les champs électromagnétiques ont des effets nocifs et portent Y2 pt x2
L4.a atteinte aux étres qui s'y exposent. 1
Deuxi¢me point de vue (suite aux études financées par les
opérateurs de téléphonie mobile):
- Le recours au wifi n'est pas si risqué/ nuisible/nocif qu’on le
prétend.
Précision du point de vue soutenu par le locuteur Le candidat choisit le point
de vue soutenu par le
14.b Le locuteur soutient le premier point de vue, celui qui renvoie aux|locuteur
études indépendantes. Vs pt
Relevé de ’adverbe modalisateur et de la locution adverbiale. : 0.75
puis reléve I’adverbe ’
- L’adverbe modalisateur « malheureusement » (L.9) modalisateur et la locution
- La locution adverbiale « beaucoup moins» (L..9) adverbiale
Ya pt x2
Justification de ’emploi de I’anaphore en précisant son role Le candidat justifie
dans ’argumentation I’emploi de I’anaphore
L’anaphore « Parce que...Parce que... Parce que... » (L.1-3) en précisant son rdle dans
énumére les trois arguments des défenseurs du recours au Wifi I’argumentation
dans le métro en créant un effet de martélement (soulignant : Yapt
1° la nécessité d’étre joignable a tous moments, en tout endroit et | et la rattache au point de
rapidement vue
Ld.c 2° le besoin de faciliter la navigation qui n’est pas suffisamment Ya pt 1
o assurée par la 3G
3° les revenus considérables que tirent les opérateurs de ’usage
du Wifi par les consommateurs.) (les arguments appuyant la thése
adverse)
Rattachement au point de vue
On peut la rattacher au 2° point de vue, celui des études financées
par les opérateurs de téléphonie mobile.
Reformulation de I’argument Le candidat reformule
I’argument
LS L’installation du Wifi dans le métro (espace clos) amplifie le 1pt 1
danger d’exposition des usagers aux ondes émises (et présente
une grave menace au niveau de leur santé).
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L6.a

La valeur de I’énumération

- Le locuteur y recourt pour citer la grande série d’inventions
qui émettent des ondes nocives ; ce qui produit un effet
d’accumulation soulignant la multitude des dangers qui
menacent I’homme moderne exposé ainsi aux ondes
volontairement ou involontairement.

Le candidat précise la valeur
de I’énumération
% pt

0.5

L.6.b

La fonction de I’interrogation rhétorique

L’interrogation secoue les utilisateurs de la nouvelle technologie
en les poussant a réfléchir au profit tiré par les opérateurs qui
s’enrichissent a leurs dépens.

Le candidat précise |’effet
produit par I’ interrogation
rhétorique.

¥ pt

0.5
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Aprés 26 ans de prison et une longue lutte pacifiste contre le systéme politique de ségrégation’ raciale, Nelson Mandela est
élu, le 27 avril 1994, a la téte de 'Afrique du Sud. Un an auparavant, Mandela avait recu le prix Nobel de la paix pour avoir
pacifiquement mis fin au régime de I'apartheid * et jeté les bases d'une nouvelle Afrique du Sud démocratique. Le texte ci-dessous
est extrait du discours d’investiture® qu’il prononce en tant que premier président noir de son pays.

Par notre présence ici aujourd’hui, et par nos célébrations dans d'autres régions du pays et du monde,
nous glorifions cette liberté qui vient de naitre et nous mettons en elle tous nos espoirs.

D'un dramatique désastre humain qui a duré trop longtemps doit naitre une société qui sera la fierté de
I'humanité. [...]

5 Le temps de soigner les blessures est arrivé.

Le temps de combler les fossés qui nous séparent est arrive.

Le temps de construire est arrivé.

Nous sommes enfin arrivés au terme de notre émancipation politique. Nous nous engageons a libérer
notre peuple de l'asservissement dii & la pauvreté, a la privation, & la souffrance, au sexisme® et & toute

10 autre discrimination.

Nous avons réussi a passer les derniéres étapes vers la liberté dans des conditions de paix relative.

Nous nous engageons & construire une paix compléte, juste et durable.

Nous avons réussi a implanter I'espoir dans le ceeur de millions de personnes de notre peuple. Nous
nous engageons a batir une société dans laquelle tous les Africains du Sud, qu'ils soient blancs ou noirs,

15 pourront se tenir debout et marcher sans crainte, stirs de leur droit inaliénable a la dignité humaine - une
nation arc-en-ciel, en paix avec elle-méme et avec le monde. [...]

Nous dédions ce jour a tous les héros et héroines de ce pays et du reste du monde qui se sont sacrifiés
ou ont donné leur vie pour que nous puissions étre libres.
Leurs réves sont devenus réalité. La liberté est leur récompense.

20 Nous nous sentons a la fois humbles et fiers de 'honneur et du privilege que le peuple d'Afrique du Sud
nous fait en nous nommant premier Président d'un gouvernement d'union démocratique, non-raciste et
non-sexiste.

Nous sommes conscients que la route vers la liberté n'est pas facile.
Nous sommes conscients qu'aucun de nous ne peut réussir seul.

25 Nous devons donc agir ensemble, comme un peuple uni, vers une réconciliation nationale, vers la

construction d'une nation, vers la naissance d'un nouveau monde.
Que la justice soit la méme pour tous.
Que la paix existe pour tous.
Qu'il y ait du travail, du pain, de 1'eau et du sel pour tous.

30 Que chacun d'entre nous sache que son corps, son esprit et son dme ont été libérés afin qu'ils puissent
s'épanouir.

Que jamais, jamais plus ce pays magnifique ne revive l'expérience de l'oppression des uns par les
autres, ni ne souffre 4 nouveau l'indignité d'étre le paria® du monde.
Que la liberté régne.

35 Que le soleil ne se couche jamais sur une réalisation humaine aussi éclatante !

Nelson Mandela, Extrait du discours d’investiture, 1994,
1-Ségrégation : action de mettre A ’écart quelqu’un, un groupe. 2-Apartheid : ancienne politique de ségrégation raciste instaurée
par les Blancs d'Afrigue du Sud contre les gens de couleur. 3-Investiture : toute procédure qui tend, en régime parlementaire, 3

confier & un nouveau chef de gouvernement la confiance du parlement. 4- Sexisme : discrimination envers une personne en raison
de son sexe.  5- Paria: personne rejetée, exclue.

I- Questions 10 pts dont 4 pt pour la présentation
1- En vous appuyant sur le paratexte, choisissez et recopiez la bonne réponse: ¥ pt

e L’investiture désigne:
- T’action d’investir de I’énergie ou de I’argent dans le but de réaliser un projet.
- la cérémonie officielle au cours de laquelle un président élu prend le pouvoir en main.
- 1’acte par lequel un parti politique désigne officiellement un candidat a une élection.
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Pour lutter contre I’apartheid, Mandela a mené:

- une guerre civile entre Noirs et Blancs.

- une lutte pacifique, longue et tenace contre le régime politique de ségrégation raciale.
- une politique de sabotage contre le régime minoritaire blanc.

2- Quel prix Nelson Mandela a-t-il regu en 1993? Ce prix est-il mérité ? Justifiez votre réponse 1pt
en vous référant au chapeau.

3- Dites si les affirmations suivantes sont vraies ou fausses et justifiez quand c’est faux en citant 1pt/
le texte.

a. Dans son discours Mandela s’engage a libérer son peuple de toutes les formes de
servitude.

b. Le chemin de la liberté était semé d’obstacles mais le peuple sud-africain a réussi a

s’affranchir du joug du racisme.

¢. Avant I’arrivée de Mandela au pouvoir, la société sud-africaine était homogeéne et vivait

en paix.
d. Mandela parle de justice et s’engage & mener une politique €conomique juste et
équitable en promettant du travail pour tous.

4- Précisez les référents respectifs de la premiére personne du pluriel aux lignes 21 et 25. Yipt
5- Relevez le mot le plus récurrent et ses dérivés, puis nommez la valeur a laquelle Mandela aspire. 1pt
6- a.Dans les lignes 1 2 10 et 30 & 35, faites le relevé des termes a sens négatif que Mandela 1pt
associe au passé de son pays.
b. Déterminez briévement I’image que I’orateur donne de ce passé. Yapt
7-  a. Relevez, dans les lignes 8 a 16, les groupes verbaux dont « nous » est le sujet grammatical Ipt¥
et classez-les, en vis-a-vis, selon le temps verbal employé.
b. Interprétez ce classement en vous appuyant notamment sur les temps verbaux et le sens % pt
des verbes.
¢. Dans quel but Mandela recourt-il au subjonctif accentué par la reprise anaphorique dans Y pt
les lignes 27 & 35?
8- Relevez la figure de style contenue dans les lignes 15-16, nommez-la et précisez sa valeur. 1pt
II- Production écrite Traitez au choix I’un des sujets proposés. 6 pts's

Votre texte fera 25 - 40 lignes dans une écriture de taille moyenne (250 - 400 mots, +/- 10%)

Sujetl:

Sujet2:

Le racisme, I’un des fléaux les plus néfastes et les plus persistants, constitue une violation si scandaleuse de la
dignité de I’étre humain qu’elle ne peut étre justifiée sous aucun prétexte. (D’aprés Maison Universelle de Justice)
Qu’en pensez-vous?

Quel que soit votre point de vue, vous le présenterez dans un développement argumenté illustré d’exemples.

Vous faites partie du Parlement des Jeunes et, a la veille des ¢lections parlementaires, vous étes choisi(e)pour
prononcer un discours au nom des jeunes, adressé aux députés candidats pour les inciter a étre plus impliqués
dans les problémes qui touchent la société (chdmage, égalité entre femmes et hommes, violence conjugale ou
familiale...).

Vous rédigerez ce discours en respectant les caractéristiques du genre visé.

Les critéres Les notes
Pertinence ou adéquation 2 la situation et 4 la consigne (2 pts)
Cohérence (2 pts)
Utilisation correcte des outils de la langue (2 pts)
Mise en page et lisibilité (% pt)
III- (Euvre intégrale 3 pts¥s

Analysez le théme principal propre a ’une des ceuvres étudiées cette année dans le cadre du programme.
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Q. Corrigé Note
Eléments de réponse Critéres
d’évaluation
Choix de la bonne réponse
Le candidat choisit
¢ Dans le texte, I’investiture désigne : et recopie la bonne
L1. - la cérémonie officielle au cours de laquelle un président | réponse. 05
élu prend le pouvoir en main.
¢ Pour lutter contre ’apartheid, Mandela a mené : Vapt x2
- une lutte pacifique, longue et tenace contre le régime
politique de ségrégation raciale.
Précision du prix recu, justification du mérite du prix Le candidat précise
le prix recu,
Nelson Mandela a regu en 1993 le prix Nobel de la paix. Yapt
Oui, le prix est mérité, parce qu’il a: répond s’il est
L2 - lutté pacifiquement contre le systéme politique de ségrégation[mérité
raciale, Yapt 1
- mis fin au régime de l'apartheid, et justifie sa réponse.
- jeté les bases d'une nouvelle Afrique du Sud démocratique.
- été emprisonné pour 26 ans, il s’agit donc d’un militant qui n’a|2 des 3 justifications
jamais capitulé. Yipt x2
Précision si les affirmations sont vraies ou fausses et justification|Le candidat répond
de celle qui est fausse par vrai ou faux
Yapt x4
a. Dans son discours, Mandela s’engage a libérer son peuple de
toutes les formes de servitude. Vrai et cite le texte en
b. Le chemin de la liberté était semé d’obstacles mais le peuple sud-|justifiant ce qui est
africain a réussi a s’affranchir du joug du racisme. Vrai faux.
¢. Avant l’arrivée de Mandela au pouvoir, la société sud-africaine Yapt
était homogene et vivait en paix. Faux
Justification
« Nous nous engageons a bdtir une société dans laquelle tous les
Africains du Sud, qu'ils soient blancs ou noirs, pourront se tenir 1%
L3. debout et marcher sans crainte, sirs de lewr droit inaliénable a la
dignité humaine - une nation arc-en-ciel, en paix avec elle-méme et
avec le monde. » (L.13-16) ou (L.9-10) ou (L. 32-33)
d. Mandela parle de justice et s’engage & mener une politique
économique juste et équitable en promettant du travail pour tous.
Vrai
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Précision des référents du pronom « nous » dans les lignes 21 et | Le candidat précise
25 les référents du
«Nous » (L.21) (emphatique) renvoie & I’orateur lui-méme | pronom « nous ».
rappelant son nouveau statut de président récemment élu. Y4 x2
L4, «nous » (L. 25) réfere a tout le peuple sud-africain y compris le Y
locuteur. 1l I’invite & s’engager dans le processus de reconstruction
du pays aprés une guerre interminable.
Relevé du terme récurrent Le candidat reléve le
« Liberté » x 5 (L. 2-11-19-23-34) terme récurrent,
Ya pt
de ses dérivés : 1
LS. libérer (L.8), libres (L.18.), libérés (L.30). ses dérivés et
Vapt x2
Identification de la valeur a laquelle Mandela aspire nomme la valeur.
Mandela s’adresse & son peuple au nom de la liberté. Ya
Relevé des termes a sens négatif que Mandela associe au passé de|Le candidat reléve
son pays les termes & sens
négatif.
« dramatique désastre humain » (L.3), « blessures » (L.5), « fossés »|  1pt pour 8 relevés
L6.a ||(L.6), «asservissement» (L.9), «pauvreté » (L.9), «privation» % Ppour7/6 1
(L.9), «souffrance », (L.9) «sexisme» (L.9), «discrimination » égg:: ;jg
(L.10), « oppression » (L.32), « souffre » (L.33), « I’indignité d’&tre
le paria du monde » (L.33).
L’image que I’orateur donne de ce passé Le candidat
détermine
Il s’agit d’un passé obscur et sanguinaire ou les valeurs étaient briévement I’image
L.6.b | [violées et ou régnaient la ségrégation sociale, raciale et sexiste, un/que I’orateur donne Y4
passé ol une minorité blanche commettait des crimes affreux|de ce passé.
contre ses concitoyens de race noire. ¥a pt (“pt X3)
Relevé et classement selon le temps verbal employé et en vis a vis|Le candidat reléve et
les groupes verbaux dont « nous » est le sujet grammatical classe en vis- a - vis
les groupes verbaux
1
Le passé composé Le présent pes
Nous sommes enfin arrivés au Nous nous engageons & et précise le temps
terme de notre émancipation libérer notre peuple (L.8-9) verbal employé
politique (L.8)
1
L7.a Nou§\av0135 réussi a passer le§ Nous nous engageons 4 npta2
derni¢res étapes vers la liberté construire une paix ... (L.12) 1.25
(L.11)
A Nous nous engageons a batir
Nous avons réussi a implanter une société ... (L.14)
I’espoir (L..13)
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L7.b

Interprétation de ce classement

Ce classement permet de déterminer en premier les actions
réalisées lors de la période militante de Mandela (aprés de
longues années de lutte) :

L’arrivée au pouvoir

- La création d’une ambiance propice au changement afin
d’instaurer la liberté et cultiver la paix sur la terre sud-
africaine

- Sa réussite a raviver ’espoir dans les cceurs de ceux qui
révent d’un monde meilleur

I permet de déterminer en second les engagements que
Mandela prend pour assurer a son peuple une vie libre
(abolition de toute sorte de discrimination sociale et raciale),
paisible et digne (un état de droit et d’égalit€).

Le candidat

interpréte ce

classement.
% pt

0.75

1.7.c

But de I’emploi du subjonctif

Le recours au subjonctif par Mandela, dans les L. 27 a 35, a pour
but d’exprimer un souhait, voire une priére. Il espére tenir ses
promesses et ses engagements.

Son discours constitue un appel a ’action, une exhortation afin
de solliciter une plus grande conjonction des efforts collectifs
pour un meilleur avenir qu’il promet a son peuple.

Le candidat justifie
I’emploi du
subjonctif.

Y% pt

0.5

L.8.

Relevé de la figure de style contenue dans les L. 15-16
« une nation arc-en-ciel » (L.16)

Identification de la figure de style
Il s’agit d’une métaphore.

Sa valeur

Cette métaphore renvoie a la société sud-africaine diversifiée,
constituée de blancs et de noirs qui, bien que différents, doivent
désormais vivre et cohabiter en paix et en harmonie. A travers son
usage, Mandela fait allusion & un avenir rayonnant qui attend son
pays out I’on verra naitre un monde nouveau suite 2 la résurrection

du peuple sud-africain qui s’unit autour de son leader politique.

Le candidat reléve
la figure de style,
Ya pt

I’identifie et
Yipt

précise sa valeur.
Y pt
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A qui revient cette idée folle d’inventer, un jour, la « crise » d’adolescence? Jean-Jacques Rousseau
lui-méme, le philosophe pédagogue! Il n’y aurait, selon Iui, qu’adolescents révoltés ou déprimés...
Pourtant, tout ceci n’est qu'une fable'! La crise d’adolescence (de la puberté, en réalité) n’a rien d’une
fatalité’, ne répond & aucun déterminisme biologique. Et I’opposition aux parents — aux enseignants
quelquefois — n’est pas une nécessité, méme si les « spécialistes » estiment que non seulement la crise
existe, mais encore qu’il vaut mieux la faire t6t que tard. Nous savons maintenant que l’erreur d’analyse
tient au fait que la plupart des psychologues, psychiatres, psychanalystes et médecins parlent de
I’adolescence sur la base d’observation de jeunes en difficulté psychologique ou sociale, essayant de
comprendre et de dessiner le «normal» & partir du « pathologique3 ».

Or, la plupart des adolescents traversent cette période de vie paisiblement, sans conflit avec quelque
adulte que ce soit. Il semble bien que certaines conditions familiales (dialogue, responsabilités) ou
sociales (implication des adolescents dans la vie de la cité) soient de nature a contrarier® le processus de
crise pubertaire®. Il existe ainsi des sociétés oi les rapports entre adultes et adolescents sont organisés de
telle sorte que chacun ayant un role & jouer au sein de la communauté regarde 1’autre avec respect et
tolérance. C’est le cas des sociétés dites « primitives », o0, & 1’issue de rites initiatiques6, les gargons
pubéres’ entrent dans la communauté des adultes: les tensions entre générations sont ainsi tuées de
maniére préventive’.

Dans nos sociétés « modernes », il n’y a plus de responsabilités pour les plus jeunes, plus de dialogue
avec eux. D’ou révolte, mauvaise humeur, violences de leur part. En famille, chacun vit dans son monde,
avec ses amis, ses centres d’intérét. D’ou cette opposition que 1’on observe ici ou 13, entre parents et
adolescents. Cela tient a une mauvaise relation entre eux. Pas facile pour des parents de voir grandir leurs
enfants! De voir contester® leur pouvoir! Pas facile pour des adolescents, qui pensent par eux-mémes,
voient la vie & leur fagon, de supporter encore I’emprise familiale! D’ou le grand malentendu... et la
prétendue’ « crise ».

Michel Fize, sociologue au CNRS (Centre national de recherche scientifique). 20 Minutes.fr. 6 mars 2006
* Jean-Jacques Rousseau est un écrivain et philosophe francais, auteur de « Emile ou de I’éducation », un des plus
importants traités d'éducation.

1- Fable: ici, mensonge  2-Fatalité: sort, déterminisme auquel ’homme ne peut pas échapper 3- Pathologique: qui dénote
un mauvais état de santé physique ou psychique  4-Contrarier: faire obstacle 3, s’opposer & 5-Pubertaire/ Pubéres:
adjectifs relatifs a la puberté 6-Rites initiatiques: ici, cérémonies qui marquent ’entrée des adolescents dans la communauté
des adultes 7-Préventive: par mesure de précaution  8-Contester: s'opposer 3  9- Prétendue: supposée, qui n’est pas

conforme 2 la réalité

I-_Questions (12 pts dont ¥ pour la présentation)

1-  En vous basant sur le texte de Michel Fize et sur la référence choisissez et recopiez la Yapt
bonne réponse.
a, Le sociologue Michel Fize destine son texte:
- aux familles et & la société
- a Rousseau
- uniquement aux adolescents.

b.  Pour lui, cette crise d’adolescence est vécue par:
- une grande majorité d’adolescents
-un certain nombre d’adolescents
- tous les adolescents.
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Selon lui, la crise d’adolescence est:

- causée par les transformations biologiques chez I’adolescent
- due, exclusivement, au conflit des générations

- conditionnée par I’environnement familial et social.

2-  L’auteur est-il une autorité digne de confiance au niveau du théme traité? Justifiez votre
réponse en vous appuyant sur la référence.

3-  Pour chacune des affirmations suivantes, dites si elle est vraie ou fausse. Justifiez votre
réponse, pour celle qui est fausse, en citant le texte.

a.

b.
c.

d.

4- a,

C.

6- a.
b.

Les sociétés primitives se caractérisent par ’harmonie entre les adolescents et les
adultes.

La famille modeme favorise I’épanouissement des adolescents.

La crise d’adolescence vient du fait que certains parents veulent garder les

adolescents sous leur autorité.
Le dialogue avec les adolescents et leur responsabilisation leur permettent d’éviter la

crise.

Relevez, dans le texte, six termes ou expressions se rapportant & I’adolescence "en
crise" et six autres termes ou expressions se rapportant a I’adolescence "sans crise".
A la lumiére de ce relevé, formulez la problématique soulevée.

Relevez, dans la 1¥° phrase du texte, I’adjectif évaluatif et ’indice typographique qui
montrent que I’auteur ne partage pas le point de vue de Rousseau quant & I’existence
de la crise d’adolescence.

L’auteur s'en prend aux spécialistes qui commettent une « erreur d’analyse ». Que
leur reproche-t-il?

Aprés avoir relevé, dans les lignes 3 a 6, le connecteur d’opposition et les
constructions négatives, reformulez la thése soutenue.

Relevez les deux tournures impersonnelles employées dans le deuxiéme paragraphe.
Reformulez I’argument introduit par la premiére puis I’exemple initié par la
deuxiéme.

7-  Identifiez, dans les lignes 21 a 24, une figure de style. Relevez- la et précisez sa valeur
d’emploi.

I1. Production écrite Traitez au choix I’'un des sujets proposés.
Votre texte fera 25 - 40 lignes dans une écriture de taille moyenne (250 - 400 mots, +/- 10%).

¥ pt

1pts

1pt %
Ya pt

Yapt

1pt

2pts

% pt
1pt %

1pt

8 pts

Sujet 1 ; Le sociologue Michel Fize dit: « Pas facile pour des adolescents, qui pensent par eux-mémes, voient la
vie & leur fagon, de supporter encore I’emprise familiale. » Pensez-vous que ’autorité familiale soit
nécessaire pour 1’épanouissement des adolescents?

Votre réponse prendra la forme d’un développement argumenté illustré d’exemples.

Sujet 2 : Devant la révolte continue de votre frére ou sceur dgé(e) de 14 ans contre les conditions familiales, vous

2

avez I'impression qu’il s’agit d’un «déja vu». Vous décidez de 1’aider a retrouver une relation
harmonieuse avec ses parents en lui racontant une situation conflictuelle que vous avez vécue et en lui
exposant les moyens dont vous vous &tes servi pour la surmonter.

Les critéres Les notes
Pertinence ou adéquation 4 la situation et 4 la consigne (2 pts ')
Cohérence (2 pts 15)
Utilisation correcte des outils de la langue (2pts %)
Mise en page et lisibilité (% pt)
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Partie
dela Corrigé Note
Q. .
Eléments de réponse Critéres d’évaluation et
notation
Choix de la bonne réponse Le candidat recopie la
a- Le sociologue Michel Fize destine son texte: bonne réponse.
- aux familles et & la société ax3
I.1.a b- Pour lui, cette crise d’adolescence est vécue par 0.75
- un certain nombre d’adolescents
c- Selon lui, l1a crise d’adolescence est:
- conditionnée par ’environnement familial et
social
Réponse positive et justification a partir de la référence Le candidat répond
-oui positivement
L2 -Michel Fize est un sociologue au CNRS frangais et c’est . Apt 0.75
précisément ce titre qui lui confére une autorité indéniable et une | ©t reléve deux indices.
grande aptitude 4 traiter le sujet de la crise des adolescents. “4ph32
1.3 Réponse par vrai ou faux et justification Le candidat
a. vrai trouve les trois réponses
b. faux vraies,
La phrase qui justifie la réponse:« En famille, chacun vit dans o %x3 L5
son monde, avec ses amis, ses centres d’intérét. » (L.19-20) choisit I’affirmation fausse
¢. Vrai s
d. Vrai et justifie sa réponse.
Y pt
Relevé des six termes ou expressions qui se rapportent Le candidat repére les 6
d'une part a4 I’adolescence "en crise" et d'autre part a mots ou expressions.
Padolescence "sans crise":
Adolescence "en crise" Adolescence "sans crise" % pt pour 6
2 pour 5/4
-«évoltés» (L .2) -«paisiblement» (L.10) EptpoRs 2l
-«déprimés» (L .2) -«sans conflit (avec quelque
-«opposition aux parentsy adulte que ce soit») (L.10, 11)
(L .4) - «dialogue» (L.11) % pt pour 6
-«opposition aux -«responsabilité» (L.11) V4 pour 5/4
enseignants » (L.4) -«implication des adolescents | | 2Pt pour3/2/1
- «en difficulté dans la vie de la cité» (L.12)
1.4.a . . 1.5
psychologique» (L.8) -«contrarier le processus de
-«En difficulté sociale» (L.8) | crise pubertaire» (L.12-13)
-«pathologique» (L.9) -« respect» (L.14)
-«révolte» (L.19) -«tolérancey (L.15)
-«mauvaise humeur » (L.19) | -«les tensions...tuées» (L.16)
-«violences» (L.19)
-«cette opposition » (L.20)
-«pas facile» (x2) (L.21, 22)
-«contester leur pouvoir»
(L.22)
-«grand malentendu» (L.23)
[«crise» (L.1 et 24)]
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I4.b || Formulation de la problématique Le candidat formule la 0.75
-La crise d'adolescence est-elle une fatalité ou peut-elle étre Problématique.
évitée? ,
-Peut-on vivre ’adolescence sans crise ou non? S
-Dans quelle mesure peut-on parler de crise d’adolescence ?
Relevé de I’adjectif évaluatif et de Pindice typographique Le candidat reléve les deux
Indices.
L.5.a -I’adjectif évaluatif : « folle » (L.1) Vaptx2 0.5
-I’indice typographique : les guillemets dans « crise » (L.1)
Formulation du reproche que le locuteur fait aux spécialistes: |Le candidat formule le
Le locuteur reproche aux spécialistes de faire une "erreur reproche.
d'analyse” (L.6): ils fondent un concept sur I’exceptionnel,
15.b le pathologique et non pas sur I’habituel, 1a régle, 1pt 1
02D A Des [ . '
le « normal ». Ils prétendent !’existence d'une crise d'adolescence
par l'observation de jeunes en "difficult¢ psychologique ou
sociale", donc suite a 1'observation de cas pathologiques.
Relevé du connecteur d’opposition et des constructions/Le candidat reléve
négatives le connecteur,
-« Pourtant » (L.3)
- « tout ceci n’est qu’une fable » (L.3), «n’a rien d’une fatalité » ‘/4 pt
1.5.¢ |l(L.3-4), «ne répond & aucun déterminisme biologique » (L.4), Lzsg;’iféitxctmns 2
« n’est pas une nécessité » (L.5) e pt x4
Reformulation de la thése soutenue reformule la thése.
La crise d’adolescence n’est pas une nécessité incontournable, % pt
une fatalité, un phénoméne inévitable.
Relevé des tournures impersonnelles contenues dans le Le candidat reléve les
1.6 a. ||deuxiéme paragraphe tournures impersonnelles.
-« Il semble bien » (L.11) Yapt x2
-« Il existe ainsi » (L.13)
Reformulation de I'argument Le candidat reformule
Si la société aliéne moins les jeunes et favorise leur l'argument
épanouissement en les écoutant et les responsabilisant, elle
leur permet d’éviter la crise d’adolescence. , %pt 1.25
L6b. | Reformulation de Pexemple L exemple'l/ . ’
7" | |La répartition des tiches dans certaines sociétés, entre adultes P
et adolescents, ainsi que la reconnaissance réciproque de cette (2de4)
répartition, favorisent le respect mutuel et amoindrissent ainsi
les risques de crise,
Relevé de la figure de style, précision de sa nature et de sa Le candidat reléve
valeur: la figure de style,
Parallélisme de construction Y pt
"Pas facile pour des parents... précise sa nature 1
Pas facile pour des adolescents..." (L.21-23) Ya pt
L7 Le parallélisme de construction véhicule les raisons de la
prétendue crise. II montre la grande difficulté qu’éprouvent |et sa valeur.
les parents d’un coté et les adolescents de I’autre, a sortir de Y pt
P’impasse dans laquelle ils se trouvent, notamment, au niveau des
divergences des points de vue.
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Domains: Reading and Writing

Competencies:

- Reading: Develop literal and interpretive comprehension of written discourse (12 pts.)

- Writing: Produce transactional writing (8 pts.)
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Domains: Reading and Writing

Competencies:

- Reading: Develop literal and interpretive comprehension of written discourse (12 pts)

- Writing: Produce transactional writing (8 pts)
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Domains: Reading and Writing

Competencies:

- Reading: Develop literal and interpretive comprehension of written discourse (12 pts)

- Writing: Produce transactional writing (8 pts)
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Domains: Reading and Writing

Competencies:

- Reading: Develop literal and interpretive comprehension of written discourse (12 pts)

- Writing: Produce transactional writing (8 pts)
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Part One: Reading Comprehension (Score: 12/20)

Read the following selection in which the writer narrates how her mother influenced her life and then
answer the questions that follow.

1 We all make different mistakes and learn from various experiences in life. However, each one of us has a
person who has made a change in his/her life, My mother is the person who has played a role in my life with
her great support and good advice.

2  When I was two years old, my parents got divorced, so my mother had to take care of me on her own.
She took two jobs to be able to pay for our expenses. My mother gave me all her love and tried to make our
life better. Also, she was always a good friend of mine and taught me to be compassionate and helpful to
other people. My mother's advice helped me make good friends and be successful in life.

3 The most important incident, which I remember very well, happened when I was five years old. My
mother took me to the beach and told me to wait for her until she finished swimming. I didn't obey her and
jumped into the water. When my mother came back, she couldn't find me. She cried for help, but nobody
could hear her. While she was looking for me along the beach, she spotted my swimming cap in the water.
She rushed to pull me out. I was very grateful to her for saving my life.

4 1 was nine years old, and I had always wanted to join a dance class. However, my mother was unable to
afford it, so I felt very upset. Later, on my birthday, all our family gathered to celebrate my happy day. My
mother's gift was the best! It was a membership card to join the dance academy. This made me very happy,
and I realized the effort my mother had made to make my dream come true.

5 After three months, I joined the school summer camp. One day, our teachers organized a dance competition
for all children at the camp. They wanted to choose the best dancer from all groups. So, the teachers invited
the musicians to play music. My mother went there to see my performance. I did modern dance successfully,
and my movements were so flexible that I could dance very easily. I spun, moved and hooked my body.

6 At the age of seventeen, I graduated from high school. After that, I was accepted at the National Academy
of Law where I was supposed to study law, but I couldn’t finish it because I moved to the United States. I
arrived there in May, 2013, but my mother stayed in Ukraine. She came to visit me in the summer of 2014. 1
felt very sad because she was so far from me. My mother had encouraged me to go to college in the United
States earlier. She always told me that education is very essential for a better life, and I took her words into
consideration and joined Kingsborough Community College, where I majored in Biology. My mother was
glad about my choice.

7 My mother has been the most influential person in my life. Now, before I make any decision, I always ask
for her opinion, for she is the most trusted friend. I love her very much and wish we would be always together.

Questions

A. Answer questions 1 to 4 in complete sentences of your own.
1. Based on paragraph 2, how did the writer live her childhood after her parents’

divorce? Illustrate. (Score : 01)
2. According to paragraphs 3, 4 and 6, why does the writer describe the mother as the
most influential person in her life? Mention four pieces of evidence. (Score : 01)
3. Based on paragraph 6, why didn’t the writer continue studying law? Give two reasons. (Score :01)
4. Which of the following is the most appropriate title for the selection? (Score :0.5)
- Importance of Education - A Gift from God - Consequences of Divorce
B. Based on the selection, what does each of the underlined pronouns refer to? (Score: 01)
a- This (Paragraph 4) b- it (Paragraph 6)
1
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C. Use contextual clues to figure out the meaning of each word in the box below. Then fill in the

blanks with the correct words to complete the following sentences. (Score: 02)
| compassionate grateful upset flexible essential |

1. Wewere................. to our neighbors who called the fire engine when our house was on fire.

2. Because his muscles are very............, he can bend and move his body in different directions.

3. Robert got emotionally............. due to not being nominated for the school prize.

4. Oxygen, sunlight, and water are .............. for the growth of plants.

D. The reading selection has 7 paragraphs (1 — 7). Each of the following extracts (A) and (B) is the
correct part that completes ONE paragraph in the selection. Read extracts (A) and (B) carefully and
then choose from paragraphs (1 —7) the one that correctly fits with each extract. (Score: 1.5)

Extract (A): Eventually, I won this competition and felt happy. It was an achievement that made me
feel very confident. My mother was very proud of me as well.

Extract (B): This incident made me appreciate my mother's continuous support and her valuable
words. Had it not been for my mother, I would have drowned.

E. Rewrite the following sentences, starting each as indicated without changing the meaning.
(Score: 02)
1. After that, I was accepted by the National Academy of Law. The National............................
2. Icouldn’t finish it because I moved to the United States. If.............ccoovverevreeeeeeeeeeeeeeeer e,

F. In each of the following sentences there is ONE grammatical error. Identify the error and then
correct it. (Score: 02)
1. They are trying to sell their house; it has been on the market since two months.
2. The movie which we watched it on cable last night was frightening.
3. Unfortunately, no one can tell what kind of obstacles will he face.
4. Rarely she has attended a musical concert alone,

Part Two : Writing Choose ONE of these two prompts: (Score : 08/20)
Prompt (A) Read the following personal reflection about parenting.
I thank God that I'm a product of my parents; they infected me with their intelligence and energy for
life, their thirst for knowledge, and their love. I'm grateful that I know where I come from.

Based on the above statement, write about three positive traits in your parents that inspired you to
accomplish your goals. Provide an outline and a suitable title.

In your essay, provide a thesis statement in the introduction, a topic sentence for each body paragraph, and
support the main idea with relevant, specific and adequate details. Give examples drawn from your reading,
experience or observation. Your essay should be between 150-200 words. Revise and proofread your essay.

Prompt (B) Read the following statement about the role parents play in raising their children.

Parents are the ultimate role models from whom children learn more than any other person. Every
word parents say or action they take is a way to teach their children values, attitudes and ways of
thinking to achieve success in their lives.

Based on the statement above, narrate a story about someone who learnt a lot from his/her parents. As
you develop your essay, describe what this person learnt and how he/she could achieve success. Copy
and fill in the chart below and then write the essay. Develop your narrative essay by providing sufficient
details about the events, people involved, and the achievement(s). Your essay should be between 150-
200 words with an appropriate title. Revise and proofread your essay.

Title Your essay will be evaluated
Setting based on ideas and organization
Characters (Score: 2.5), language and style
(Score: 2.5), outline/chart and
Eveas title (Score: 02) tidiness and
Goal achieved Iegible handwriting (Score: 01)
2
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Part One: | Reading Comprehension 12/20
A-1 She lived it normally/successfully/peacefully/happily..... after her parents' 01
divorce because her mother gave her good advice, financial and moral support...
A-2- Her mother saved her life, made her dream come true, made her happy, 01
encouraged her to continue education, and made her life better ........... (Any
four are correct)
A3 Her mother encouraged her to attend college in USA, and the writer later moved 01
there.
A-4 b) A Gift from God 0.5
B-1 This = Getting/receiving a membership card 0.5
B-2 It= studying law 0.5
C-1 grateful 0.5
C-2 flexible 0.5
C-3 upset 0.5
C-4 essential 0.5
D-1 Extract (A) is the correct part that completes Paragraph 5 0.75
D-2 Extract (B) is the correct part that completes Paragraph 3 0.75
E-1 The National Academy of Law accepted me (after that). 01
E-2 If I hadn’t moved to the United States, I could have finished it. 01
F-1 They are trying to sell their house; it has been on sale for two months. 0.5
F-2 The movie which we watched (it) on cable last night was frightening. 0.5
F-3 Unfortunately, no one can tell what kind of obstacles (will he) he will face. 0.5
F-4 - Two possibilities: - Rarely has she attended a musical concert alone. 0.5
- She has rarely attended a musical concert alone.
Part Two: | Writing 8/20
Ideas and organization 2.5
Language and style 2.5
Outline/chart and title 02
Tidiness and legible handwriting 01
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Part One: Reading Comprehension (Score: 12/20)

In the following selection, the writer reports the education problems and opportunities of poor girls in
Niger. Read it carefully, and then answer the questions that follow.

Educating Girls in the Least Educated Country on Earth

1 Rakia Soumana sometimes thinks life could have been a little different. It is not so bad in Tessa, her
village in rural Niger, where she lives with her three children, her husband, his first wife Halima, and
Halima’s five children.

2 The wives get along, each doing more than their share of household chores when the other one is
pregnant or has just given birth. Rakia, 30, wants at least two more children because it will put her family
on equal footing with Halima’s. She is dependent on her husband, and the weight of her daily workload is
heavy. Maybe things would be a bit easier if she had stayed in school past the age of 14, if anyone had
even noticed when she dropped out. But no one did when she just stopped going. “No one told me to
stay,” says Rakia with a teardrop-shaped scar under each eye.

3 Women and girls in Niger are some of the least educated in the world. Fewer than a quarter of young
women from Niger are literate, and only about 8% of the girls attend secondary school. Men and boys,
too, face low rates of education and literacy in Niger, but women and girls remain worse off.
Economically and culturally, boys tend to be afforded more opportunities, and when a family decides it
can only send some of its children to school, it is the girls who stay home. That feeds into a series of
other social ills. Early marriage brings with it poverty and high rates of infant and maternal mortality.

4 Low rates of education also help keep Niger poor. One World Bank study found that a year of
secondary schooling can mean as much as a 25% increase in a woman’s earnings later in life. An
educated mother is more likely to send her own daughters to school, ensuring increased educational and
economic development over generations.

5 Niger’s low rates of literacy and education are both caused by a cycle of poverty, early marriage and
large family size. For the children across Niger, the barriers to basic education are high. In a rural
country, schools are often far from the village, and students walk several kilometers each way in the
punishing heat.

6 In addition, kidnapping girls and killing teachers by some armed groups are only few in a long list of
physical attacks. In the Diffa region of the country, thousands of people are displaced by war.

7 Educators face bigger challenges than just getting children into the classroom. To reach students who
are kept out of school due to conflict, UNICEF and the European Union are working on a program that
will bring an educational device, which requires 3G, into people’s homes. Communication volunteers will
deliver the small device to families, many of whom live in homes without electricity or running water,
and some 150 educational programs will be broadcast out to them. “It seems like a low-tech solution,”
says a UNICEF communication specialist.

8 In countries with limited resources, any time or money available for education seems better invested in
boys. To change these social beliefs, local communities should shift their perspective towards girls’
education. A team from Safe School program goes house to house in rural villages; they come with the
message that educating children — and girls in particular — puts the whole family on better footing. For
impoverished households, the prospect of their children having better job opportunities sounds appealing.
9 Rakia’s family still lives in the old way: she believes women’s primary purpose is childbearing.
However, unlike most of her neighbors, who expect their kids to marry in their teens, she would not mind
if her children married well after they finished college. “I want them to be great people. I want one day to
watch them taking a plane to travel to the United States,” she says.

10 The most basic solutions to Niger’s education problem come in two parts: changing the mentality of
the community and improving the schools. Doing that requires more resources: to train teachers so they
can be effective; to open up dialogue about the value of girls education; and to build schools out of
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quality materials that have toilets, running water, and dorms for students traveling from remote areas. It
also requires parents to develop a sense of responsibility for educating their own children and valuing
education.

11 “It is showing that the parents do have a role in this, and that communities do have power in how
good their schools can be,” says Janes Lucas of Mercy Corps, a global humanitarian aid agency.

Questions
A. Answer each of the following questions in 1- 4 complete sentences using your own words.
1. Based on Paragraph 2, what two main challenges does Rakia face? (0.5)
2. Based on Paragraphs 4 and 8, how does educating a girl contribute to her life and to her country? (01)
3. In reference to Paragraph 9, what future does Rakia wish for her children and why? (01)
4. Based on the last two paragraphs, explain how a community may affect education. (01)

B. The following is a poor version of a one-sentence summary of Paragraph 8. Rewrite it correctly. (0.5)
Poor version: In poor communities, international programs help people educate their children.

C. 1. What type of introduction does the writer use? What two main purposes does it serve? 1.5)
2. What is the organizational pattern of Paragraph 3? Explain. (01)
3. Identify the type of irony in Paragraph 7. Justify your answer. 01)

D. Refer to Paragraphs 5, 6 and 10 to complete the table below with factors that contribute to child
illiteracy in Niger and the solutions provided. Use phrases, and do not forget to copy the table in your

booklet. 02)
Child Hliteracy in Niger
Type Preblematic Factors Solutions Suggested
Socio-economic 1. 1.
Cultural 2. 2.

E. Find words in Paragraphs 3, 8, and 10 that best replace the words underlined in the sentences below. (02)

1. The death rate continues to rise in Niger due to the inadequate medical care and poverty.

2. The poor family used their money in a way that might help them improve their social condition.

3. Due to the stubborn social norms, the villager refused to change his attitude towards using technology.
4. In poor countries, villagers move to far urban regions, looking for better life conditions.

F. What does each of the following pronouns, bold-typed in the selection above, refer to? 0.5)
1. That (Paragraph 3) 2. them (Paragraph 7)
Part Two: Writing (Choose ONE of the two prompts below.) (Score: 8/20)

Prompt A: Without education, children can never really meet the challenges they will face. Thus, it is
very important to give children the education they need in order to help them play an effective role for
their country. Write an essay of 250-300 words in which you explain the statement above, showing
three positive effects of education (social, economic, environmental, medical, etc.).

Prompt B: Rich countries believe that providing poor countries with the basic needs (food, shelter,
clothing, etc.) is the best way to offer them help. However, what poor countries actually need is an
investment in education to fight poverty and illiteracy. Write an argumentative essay of 250-300 words
in which you show with which point of view you stand. Make sure that your essay supports your stand
and refutes the opposite point of view.

[Content and organization of ideas 3.5, language and style 3.5, tidiness and legible handwriting 01]
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Educating Girls in the Least Educated Country on Earth

Answer Key

Score

I-A-1

First, Rakia lives in a competition with her husband’s wife to have equal
number of children. Second, she has a lot of daily loads.

(Or: Rakia suffers because she left school at an early age.)

(two are enough; 0.25 for each)

0.5

I-A-2

Education helps a girl support her family, financially. (Or: An educated
woman knows the value of education, so she is more likely to have all her
children, both boys and girls, equally educated. Or: The children will have
better future careers.) At the country level, educating a girl helps in
developing the economy over generations. (Or: Education helps change
the social beliefs of people and increases their awareness.)

(one contribution for her life and one contribution for her country are
enough; 0.5 for each)

01

I-A-3

Rakia wants her children to pursue their college education and then get
married, unlike people in her neighborhood. Moreover, Rakia wants her
children to leave Niger and travel to the United States where they will have
better living opportunities. It is clear that Rakia doesn’t want her children
to suffer like her.

(0.5 for the future and 0.5 for the reason)

01

I-A-4

The community has a vital impact on promoting education. When
communities value the role of education and help in building developed
schools that offer high quality learning for their youth, they pave the way
for better living and working conditions.

01

I-B

In Paragraph 8 of “Educating Girls in the Least Educated Country on
Earth”, the writer explains that in rural areas, where wrong social beliefs
prevail, educators visited people to spread awareness about the importance
of educating girls.

(the citation is not a must)

0.5

I-C-1

The introduction, which is the first two paragraphs, is an anecdote. First, it
introduces the main idea of the selection about the problem of illiteracy
among girls in Niger through the real-life example of Rakia and her family.
Second, it attracts the readers’ attention through the example of Rakia and
the competition she has with her husband’s first wife. Third, it arouses
readers’ curiosity to know more about the situation of poor illiterate people
of Niger.

(0.5 for the type and 0.5 for each purpose; two purposes are enough)

1.5

I-C-2

It is a comparison-contrast organizational pattern. The writer says that the
issue of education is common in Niger among both girls and boys;
however, the number of girls who attend schools is much less than that of
boys. He adds that the society of Niger prefers to invest in boys due to

01
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some social ills like gender discrimination and social beliefs. The writer
achieves this relation through the use of some conjunctions like ‘but’,
comparative adjectives and words like ‘least’, ‘too’, ‘fewer than’, ‘worse
off ’, and ‘more opportunities’.

Or: It is a cause-effect (chained) pattern of organization. First, poverty is
the main reason behind keeping the rates of educating both boys and girls

low. Second, keeping girls illiterate results in serious health and social

problems.
(0.5 for identification and 0.5 for justification)

I-C-3

There is irony of situation. In rural areas where people live in extreme
poverty and do not have any access to water or electricity, UNICEF and
the European Union provide them with a technical device, as an aid to help
children learn at home.

(0.5 for the type and 0.5 for justification)

01

I-D

Child Hliteracy in Niger

Type Problematic Factors Solution Suggested

1. Living in poverty; | 1. Building schools of good
Socio- building schools far | quality for all people;

economic from rural areas building dorms in remote

areas

) 2. Increasing people’s

Cultural 2. Allowing early | jyareness about the value

marriage;  Keeping | of oirls’ education

girls out of schools

(0.5 for each)

02

I-E-1

mortality

0.5

I-E-2

inveésted

0.5

I-E-3

shift

0.5

I-E-4

remote

0.5

I-F-1

“That” refers to sending boys rather than girls to school / keeping girls at
home

0.25

I-F-2

“them” refers to families

0.25

II-A

Content and organization

35

1I-B

Language and style

3.5

I1-C

Tidiness and handwriting

01
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Part One: Reading Comprehension (Score: 12 /20)

The selection below highlights the life and works of the American horror writer Howard Phillips
Lovecraft. Read it carefully, and then answer the questions that follow.

It’s a Fad!

1 Nearly 80 years after his death, Howard Phillips Lovecraft is considered one of the most influential
horror writers of all time. Stephen King, an American author of horror, called Lovecraft “the twentieth
century’s greatest specialist of the classic horror tale”.

2 From 1917 until his death in 1937, Lovecraft wrote hundreds of poems, short stories, and essays. And
yet Lovecraft died in poverty, almost unknown, never having published a single book in his lifetime.
Today, his writings are popping up in Facebook feeds. So how did the horror writer’s literary tentacles
appear from beyond the grave to get such a grip on pop culture?

3 It certainly was not his writing skills. Unlike his more literary counterparts such as Edgar Allan Poe,
Lovecraft is not celebrated for his cohesive plots or his three-dimensional characters. Many have
criticized him for his long maze-like sentences filled with obscure words like “eldritch”, “rugose”, and
“gibbous”, He wrote in old-fashioned prose, even for his time, because of his lifelong devotion to
antiquity.

4 Lovecraft was all about the monsters. He made an entire temple of extraterrestrial creatures called the
Great Old Ones, who govern secret spiritual groups. They have strange names like Nyarlathotep, Yog-
Sothoth, and the Fungi from Yuggoth. “I could not write about ‘ordinary people’ because I am not in the
least interested in them,” he said. “Man’s relations to man do not captivate my fancy. It is man’s relation
to the universe — to the unknown — which alone arouses in me the spark of distinctive imagination.” He
saw himself as “a floating, spiritual eye which sees all manner of marvelous phenomena without being
greatly affected by them.”

5 His most famous monster is Cthulhu, a fictional creature that first appeared in the short story The Call
of Cthulhu, described as “a monster of vaguely anthropoid shape, but with an octopus-like head with
claws on hind and fore feet, and long, narrow wings behind.” The name Cthulhu, Lovecraft explained, was
“a fumbling human attempt to catch the phonetics of an absolutely non-human word.”

6 Lovecraft’s other unique work is the frightful mystical masterpiece called Necronomicon. Featured in
many of his works, this ancient book is usually locked away and fiercely protected by nervous librarians.
They are right to be cautious — the book is a dangerous work of spells and rituals filled with evil power,
if uttered aloud could open doors to let in all manner of scary insects.

7 The most often asked question about the Necronomicon: “Is it real?” Lovecraft insisted it was, of
course, but the book did not exist before it was introduced in the 1922 short story The Hound. That, of
course, has not stopped numerous “genuine” Necronomicons from surfacing, most notably one attributed
to someone calling himself “Simon”, published in 1977.

8 Apart from two years in Brooklyn, New York, which he found very unpleasant, Lovecraft spent his
entire life in Providence, Rhode Island, where he was born in 1890. Most people think of Lovecraft as a
man who prefers solitude and tends to avoid other people, which is not quite accurate. He did have a broad
circle of friends, mostly other writers.

9 However, he never actually met most of his friends in person — he corresponded with them in letters, a
lot of letters. Estimates put it between 70,000 and 100,000, and they were much more than “Hey, how is it
going? Your pal, Howard.” His letters were often 40 or more double-sided pages, ranging in topics from
philosophy, science, religion, and writing to amusing anecdotes about buying a suit or eating an ice-cream
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cone. In the midst of his bleakest financial woes, Lovecraft was known to go without food so that he could

afford stamps for his letters.

10 He was briefly married to-a woman named Sonia Greene, but his odd habits and lack of income

strained their marriage, and they soon parted. Lovecraft made almost no money from his fiction and

supplemented his meager earnings by editing and writing for others.

11 Lovecraft died a sad, painful death, surrendering to intestinal cancer in 1937 at the age of 47.

Questions

A. Answer each of the following questions in 1- 4 complete sentences using your own words.

1. Based on Paragraph 3, what two characteristics distinguish Lovecraft’s writings from that of others?
0.5)

2. Based on Paragraph 4, how did Lovecraft view the relation between man and the universe? Justify. (01)

3. Identify two similarities between Lovecraft’s two works that are mentioned in Paragraphs 5 and 6.

Justify your answer. 01)
4. Based on Paragraph 8, what do the contradictory views towards Lovecraft reveal? Explain. 01)
5. Based on the last three paragraphs, explain how Lovecraft’s personality contributed to the end he had.
(01)
B. 1. Does the selection follow IBC order (Introduction-Body-Conclusion)? Explain. (01)
2. Identify one figure of speech in Paragraph 2 and explain it. 0.75)
3. What mood dominates Paragraph 10? Explain. 0.75)
4. What two types of audience, other than the general reader, might be interested in reading the selection
above? What interest does each type find in it? 1)

C. The table below shows the results of an Australian survey on the type of writings that males and
females generally like to read. Read the table carefully, and then answer the question that follows.  (01)

s Genre Fantasy Science Fiction Horror
Gender e
Females 62% 43% 18%
Males 38% 57% 82%

What do the percentages indicate about females and males reading preferences? Explain your answer in 2
to 4 sentences, using evidence.
D. Each of the following extracts (A and B) is the correct ending of ONE paragraph in the selection. Read
them carefully, and then choose from Paragraphs 1->11 the one that correctly fits with each extract.  (0.5)
Extract A: There is some debate about how Cthulhu should be pronounced, but since it’s an
alien word, unpronounceable by humans, it doesn’t really matter.
Extract B: Today, the book appears in dozens of movies, comic books, short stories, novels
and even cartoons.
E. Refer to Paragraphs 2, 6 and 10 to find words that almost have the following meanings. (02)
1. to appear suddenly or unexpectedly 3. in a strong and powerful manner
2. a work of outstanding artistry or skill 4. to stress or overweigh
F. What does each of the following words, bold-typed in the selection above, refer to? (0.5)
1. Many (Paragraph 3) 2. Ones (Paragraph 4)

Part Two: Writing (Choose ONE of the two prompts below.) (Score: 08/20)

Prompt A: Robert Frost said, “A poem begins with a lump in the throat.” Similarly, many believe that
only out of deep suffering we do produce our greatest works. However, some others think that only out of
happiness and prosperity we do find ways towards success. Write an argumentative essay of 400-500
words in which you show with which point of view you stand. Make sure your essay supports your
position and refutes the opposite point of view.

Prompt B: Some talented people are ahead of their time, and their works or achievements influence the
people of their lifetime as well as the generations that follow them. Write a case-study essay of 400-500
words in which you discuss the statement above, referring to a case of a talented person (artist,
writer, scientist, football player, etc.) whose achievements have influenced his/her community. Make

sure not to refer to any political or religious figure.

[Content and organization of ideas 3.5, language and style 3.5, tidiness and handwriting 01]
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Answer Key

Score

I-A-1

First, his writings are full of long sentences and unfamiliar words. Second, they are
considered traditional according to his time.
(0.25 for each)

0.5

I-A-2

According to Lovecraft, the universe is the source of man’s inspiration. This is because
his imagination was stimulated only by the unknown (the universe). It is also shown in
the way he saw himself: something spiritual (unworldly) that is deeply inspired by the
phenomena of the universe.

(0.5 for the answer and 0.5 for the justification)

01

I-A-3

First, both are works of fiction: the characters or ideas are not real. Second, they are
based on fearful creatures or ideas: in The Call of Cthulhu, the main character is a
monster with fearful body parts such as “octopus-like head”, “claws” and “long,
narrow wings”; and in Necronomicon, there are “spells”, “evil power”, and “scary
insects”.

(0.5 for the similarity and 0.5 for the difference)

01

I-A-4

Lovecraft preferred to live far from the city life, and that could be a reason why people
considered him a person who likes solitude. However, the writer presents an opposite
opinion: Lovecraft had many friends. These contradictory views towards Lovecraft
reveal that he was a mysterious man (or not known well by others).

01

I-A-5

First, although Lovecraft spent a considerable time writing letters to his friends, he
avoided personal interactions. This might be a reason why he did not succeed in
publishing his writings or becoming popular. Second, he is described as a person with
odd habits who could not succeed in building a family, so he did not have emotional
support and died in pain and poverty. Thus, Lovecraft can be blamed for the lonely and
painful end he had.

(two measures are enough; 0.5 for each)

01

I-B-1

The first two paragraphs are the introduction, for both provide background information
about Lovecraft. The body is Paragraphs 3 through 10, where the writer informs the
readers about Lovecraft’s writings and personal life: his skills, some of his works and
their features, his character traits, and the attitudes people/others had towards him. The
last paragraph is a conclusion, where the writer informs the readers about the tragic end
of Lovecraft.

(0.25 for the introduction, 0.5 for the body and 0.25 for the conclusion)

01

1-B-2

There is irony of situation in Paragraph 2. Although Lovecraft wrote hundreds of
books, stories, and essays, he was neither financially satisfied nor well-known at his
time. Or: Although he died poor and almost unknown, Lovecraft’s works are now very
popular.

0.75
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Another figure of speech is metaphor, “writer’s literary tentacles appear from beyond
the grave”. The writer compares the reputation (literary products/ writings/ stories) of
Lovecraft to the limbs or appendages of an animal that can move with flexibility.

(0.25 for the type and 0.5 for the justification )

A sense of disappointment and/or sadness/sympathy dominates the last paragraph. The
social status and the short and unsuccessful marriage of Lovecraft provoke a sense of

I-B-3 | disappointment: “odd habits”, “lack of income”, “strained their marriage” and “soon
departed”. 0.75
(0.25 for the mood and 0.5 for the justification)
First, teachers or students of literature might be interested in reading the selection
because it informs them about one of the most talented horror writers and his unique
I-B-4 | literary products. Second, writers/poets/essayists might also be interested because the | 01
selection highlights literary/writing skills of Lovecraft’s fiction.
(0.5 for each; any other logical type of audience with justification is accepted)
The table depicts or shows the percentages of different types of genres read by both
females and males in Australia. Females’ interest in reading fantasy books (62%) is
almost double that of males (38%). As for science fiction, there is a slight / no
I-C | significant difference between females’ interest (43%) to that of males (57%).| 01
However, males are much more interested (82%) in reading horror book than females
(18%). Thus, females are more interested in reading fantasy books in contrast to males
who are totally interested in reading horror books.
(any other logical interpretation of the percentages is acceptable)
I-D | Extract A is the correct end of Paragraph 5. 0.5
Extract B is the correct end of Paragraph 7.
(0.25 for each)
I-E-1 | pop up/ popping up 0.5
I-E-2 | masterpiece 0.5
I-E-3 | fiercely 0.5
I-E-4 | strain/strained 0.5
I-F-1 | “Many” refers to people/ critics/ other writers / counterparts 0.25
I-F-2 | “Ones” refers to monsters/ extraterrestrial creatures 0.25
II-A | Content and organization 3.5
II-B | Language and style 35
II-C | Tidiness and handwriting 01
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Part One: Reading Comprehension (Score: 12/20)
In the following selection, Alexandra Levit discusses the issue of automation in the workplace. Read it

carefully, and then answer the questions that follow.

A Robot May Be Trained to Do Your Job
1 In my presentations, when I mention the terms “the future of work” and “automation” in the same
sentence, 1 often see the audience choked. People’s worst fear is that their job will soon be taken over by the
equivalent of Rosie the Robot. Even though we are only in the beginning stages of workforce automation, I
am optimistic about the effect it will have on human workers.
2 Over the last two decades, machines have indeed replaced many human jobs in industries like
manufacturing, hospitality, transportation and customer service. But here is what I find interesting: we hang
our hats on the idea that there are certain professions, such as teaching and caregiving, in which humans
could never be replaced by robots because of the level of personal interaction required. '
3 However, according to Richard Yonck, executive director and analyst for Intelligent Future Consulting
and author of the forthcoming book Heart of the Machine: Our Future in a World of Artificial Emotional
Intelligence, we should never say “never”.
4 “Starting in the mid-2000s, due to better computer hardware and algorithms, we made some major leaps in
deep learning,” he said in an interview. “As a result, we are now developing emotional computing and
software programs that are aware of our moods and intentions and are able to respond accordingly.”
5 For example, [ might be upset at my desk, reading an irate email from a disturbing client. Through text
analysis or facial expression recognition, a program on my laptop could identify the high level of emotion,
understand what is about to happen, and warn me to take a deep breath before I send something I will regret.
6 Emotion recognition software is making waves in education, too. Researchers from North Carolina State
University showed that software that tracks facial expressions can accurately assess the emotions of students
engaged in interactive online learning and then predict the effectiveness of online tutoring sessions.
7 Affective computing and emotional recognition in software are likely to come into common use sooner
than in robotics. So can we stop worrying that humanoid robots will take over certain jobs such as those of
health workers?
8 Not necessarily. In Japan, the rapidly aging population and shrinking workforce have led to significant
advances in social robotics. Riken and Sumitomo Riko Company has released Robear, a nursing robot that
looks like a tall bear and can lift patients out of bed and help them move. Strong, gentle and nonthreatening,
Robear can converse and interact with patients on a rudimentary level, not on an advanced one.
9 Then, there is Jibo, which is used mostly in the home — for now. Jibo, designed at Massachusetts
Institute of Technology, uses speech and facial recognition and natural language processing to learn from its
interactions with people. This little “guy” is on my wish list, and I cannot wait for it to suggest what I should
have for dinner and take video of my child’s birthday party without being prompted. I am sure I will get mad
at it sometimes, but we will make up as soon as I see its movements mimicking human sadness.
10 Realistically, these technologies have far to go. For an idea of how long it might be before social robots
can do your job, look at Microsoft Windows’ personal assistant Clippy. It took 25 years for that irritating
paper clip to evolve to the current Cortana, a more intelligent personal assistant that helps you find things on
your machine, manages your schedule and tells jokes that it knows you will find funny.
11  The widespread adoption of social robotics in the workplace faces a host of potential problems,
including a lack of infrastructure and power requirements, deficient awareness of surroundings, and public
resistance. Eventually, though, the moment will come when machines possess empathy, the ability to
innovate will uniquely remain human.
12 I think the only way forward is to look at artificial intelligence developments as an opportunity rather
than a threat. We need a shift in thinking that success is no longer about our level of knowledge but about
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our level of innovative intelligence. If we accept the process of lifelong learning, in which we adapt to new
ways of working as technology improves, we will always find roles that take advantage of our best qualities.

13 Maybe I am overly optimistic, but I also believe that behind every highly intelligent machine will be
humans who help build it, train it, distribute it, advise it, and repair it when things go wrong. And until
machines acquire consciousness, they will have trouble mastering the most complex aspects of human
behavior, many of which we still do not understand.

14 Mr. Yonck agrees. “Social robots will interact with people, not just replace them. Human and machine
will partner to provide services in ways we have not had before, each providing its own strengths,” he added.
15 Personally, I look forward to the day when my work-from-home job is not quite so lonely because Jibo
is keeping me company.

Questions

A. Answer each of the following questions in 1-4 sentences in your own words.

1. Based on Paragraph 2, what field will machines fail to replace humans in and why? 1)
2. Based on Paragraphs 5 and 6, explain how emotional recognition software contributes to the work of
clients and educators. (01)
3. Based on Paragraphs 10 and 11, show whether the panic that human workers have against social robotics
in the workplace is justified or not. Support your answer with two pieces of evidence. (1.25)
4. In reference to Paragraphs 13 and 15, explain how the writer views the future role of robots in human’s life. (01)
B. 1. Identify two different tones in Paragraph 1. Explain your answer. : 01)
2. What is the thematic relation between Paragraphs 3 and 4? Justify your answer. (1.25)
3. What three types of evidence does the writer use to achieve credibility? Provide examples. 1.5)
C. The table below shows the percentages of jobs replaced by robots in certain countries in 2012 and 2016.
Read it carefully, and then answer the question that follows. (01)

Robots Replacing Humans in the Workplace
~__ Country | United Kingdom Ethiopia  United States China

Year

2012 30% 60% 30% 40%

2016 38% 85% 45% 78%

What do the percentages indicate about the replacement of humans by robots between the years 2012 and
20167 Explain your answer in 2-4 sentences.

D. Use contextual clues to figure out the meaning of each word in the box below, and then fill in the blanks
with the correct words to complete the sentences that follow. The words are underlined in the selection. (02)

forthcoming (Par. 3)  irate (Par.5)  rudimentary (Par. 8)  current (Par. 10)  potential (Par. 11)

1. Before you can upload a video, you need to have a/an understanding of technology.

2. Because I am , I am going to walk away and calm down before I use the new machine.

3. Social robots will have the to replace humans because of their emotional software programs.
4. There will be multiple applications that will address mathematical skills.

E. What does each of the following pronouns, bold-typed in the selection above, refer to? (01)
1. we (Paragraph 2) 2. he (Paragraph 4) 3. we (Paragraph 9) 4. it (Paragraph 10)

Part Two: Writing (Choose ONE of the two prompts below.) (Score: 8/20)

Prompt A: Some people are optimistic that the coming technological and scientific changes will make life
better, while some others think these changes will lead to a future in which people are worse off than they
are today. In a well-organized argumentative essay of 250-300 words, show with which point of view
you stand. Make sure that your essay supports your position and refutes the opposite point of view.

Prompt B: Technology plays a significant role in human's life, but overusing it has many drawbacks. In a
well-organized essay of 250-300 words, explain the statement above. As you develop your essay, focus
on the disadvantages of the overuse of technology.

[Content and organization of ideas 3.5, language and style 3.5, tidiness and handwriting 01]
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Life and General Sciences English Language Exam
A Robot May Be Trained to Do Your Job
Q Answer Key Score
Machines will fail in the field(s) of teaching and/or caregiving because they are
I-A-1 | unable to interact and communicate with their surroundings. 01

(0.5 for the field and 0.5 for the reason)

First, with clients, this program may cool down the temper of an angry manager
who has just received an inappropriate email from a careless client or customer.
This software warns the manager by providing him/her with the high level of
emotions he/she is developing, so he/she needs to breathe and calm before taking
I-A-2 | any inappropriate reaction that he/she might regret later on. Second, with 01
educators, the program provides the teacher with information about the student
and identifies the students’ emotional condition during an online course, as well
as, the effectiveness of a tutoring session.

(0.5 for each)

There is no reason why human workers should panic about the invasion of
automation in the workplace. First, these robots will face many problems such as
people’s resistance and power requirements. Second, no matter how much these
I-A-3 | robots are developed, they will always lack the ability to innovate, which is | 1.25
uniquely human. Third, new technologies need long time before they replace their
old versions.

(0.25 for the first part of the answer; two pieces of evidence/reasons are
enough and 0.5 for each)

The writer is fully aware of the limitations of robots, for she believes that they will
not control human's aspects which are complex as long as they do not have the
I-A-4 | awareness needed to do so. However, at the same time, she is hopeful that a time 01
will come when robots can take all human jobs and become a close companion to
humans.

(0.5 for each)

The first tone, expressed by the writer, is optimistic. She reveals a positive attitude
towards the effect robots will have in the workplace. The second tone, expressed
I-B-1 | by the writer’s audience, is pessimistic/ scared / bewildered / amazed towards 01
automation: the writer mentions that she often sees the audience “choked” when it
comes to automation in work.

(0.5 for each tone with its explanation)

The thematic relation between Paragraphs 3 and 4 is that of statement-support/
addition. In Paragraph 3, the writer states that Yonck believes people shouldn’t say
I-B-2 | never to technology since technology is able to make the impossible possible. In |  1.25
Paragraph 4, the writer supports the same idea by explaining how technology
makes an unbelievable leap with the invention of emotional software programs
that interpret human feelings.

(0.25 for identification, and 0.5 for the idea mentioned in each paragraph)
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First, he uses specific names of robots, books, companies and countries such as in
Paragraphs 1, 3, 8 and 10: "Rosie the Robot", "Heart of the Machine: Our Future
I-B-3 |in a World of Artificial Emotional Intelligence", "Riken and Sumitomo Riko 1.5
Company", and "Clippy". Second, he uses dates such as in Paragraphs 2 and 4:
"ast two decades" and "mid-2000s". Third, he uses experts' opinion such as in
Paragraph 4 and 14: the opinion of Richard Yonck who is an executive director
and analyst about the latest progress of technology.
(0.5 for each)
The table entitled “Robots Replacing Humans in the Workplace” depicts/shows
countries whose human workforce is replaced by robots over a period of time. The
percentages show that the four countries encountered an increase in the use of
I-C robots instead of humans in the workplace: 30% to 38% in the United Kingdom, 01
60% to 85% in Ethiopia, 30% to 45% in the United States, and 40% to 78% in
China. Thus, although Ethiopia scored the highest rank among the four countries,
China made the highest leap in using robots in the workplace.
(any other reasonable interpretation is acceptable)
I-D-1 | rudimentary 0.5
I-D-2 | irate 0.5
I-D-3 | potential 0.5
I-D-4 | forthcoming 0.5
I-E-1 | “we” refers to the writer and the readers / humans 0.25
I-E-2 | “he” refers to Richard Yonck 0.25
I-E-3 | “we” refers to the writer and Jibo 0.25
I-E-4 | “it” refers to Cortana 0.25
I-A | ideas and organization 3.5
I-B | language and style 35
I-C [ tidiness and legible handwriting 01
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Part One: Reading Comprehension (Score: 12/20)
In the following selection, Alexandra Levit discusses the issue of automation in the workplace. Read it
carefully, and then answer the questions that follow.

A Robot May Be Trained to Do Your Job

1 In my presentations, when I mention the terms “the future of work” and “automation” in the same
sentence, I often see the audience choked. People’s worst fear is that their job will soon be taken over by the
equivalent of Rosie the Robot. Even though we are only in the beginning stages of workforce automation, I
am optimistic about the effect it will have on human workers.
2 Over the last two decades, machines have indeed replaced many human jobs in industries like
manufacturing, hospitality, transportation and customer service. But here is what I find interesting: we hang
our hats on the idea that there are certain professions, such as teaching and caregiving, in which humans
could never be replaced by robots because of the level of personal interaction required. '
3 However, according to Richard Yonck, executive director and analyst for Intelligent Future Consulting
and author of the forthcoming book Heart of the Machine: Our Future in a World of Artificial Emotional
Intelligence, we should never say “never”.
4 “Starting in the mid-2000s, due to better computer hardware and algorithms, we made some major leaps in
deep leamning,” he said in an interview. “As a result, we are now developing emotional computing and
software programs that are aware of our moods and intentions and are able to respond accordingly.”
5 For example, I might be upset at my desk, reading an irate email from a disturbing client. Through text
analysis or facial expression recognition, a program on my laptop could identify the high level of emotion,
understand what is about to happen, and warn me to take a deep breath before I send something I will regret.
6 Emotion recognition software is making waves in education, too. Researchers from North Carolina State
University showed that software that tracks facial expressions can accurately assess the emotions of students
engaged in interactive online learning and then predict the effectiveness of online tutoring sessions.
7 Affective computing and emotional recognition in software are likely to come into common use sooner
than in robotics. So can we stop worrying that humanoid robots will take over certain jobs such as those of
health workers?
8 Not necessarily. In Japan, the rapidly aging population and shrinking workforce have led to significant
advances in social robotics. Riken and Sumitomo Riko Company has released Robear, a nursing robot that
looks like a tall bear and can lift patients out of bed and help them move. Strong, gentle and nonthreatening,
Robear can converse and interact with patients on a rudimentary level, not on an advanced one.
9 Then, there is Jibo, which is used mostly in the home — for now. Jibo, designed at Massachusetts
Institute of Technology, uses speech and facial recognition and natural language processing to learn from its
interactions with people. This little “guy” is on my wish list, and I cannot wait for it to suggest what I should
have for dinner and take video of my child’s birthday party without being prompted. I am sure I will get mad
at it sometimes, but we will make up as soon as I see its movements mimicking human sadness.
10 Realistically, these technologies have far to go. For an idea of how long it might be before social robots
can do your job, look at Microsoft Windows’ personal assistant Clippy. It took 25 years for that irritating
paper clip to evolve to the current Cortana, a more intelligent personal assistant that helps you find things on
your machine, manages your schedule and tells jokes that it knows you will find funny.
11  The widespread adoption of social robotics in the workplace faces a host of potential problems,
including a lack of infrastructure and power requirements, deficient awareness of surroundings, and public
resistance. Eventually, though, the moment will come when machines possess empathy, the ability to
innovate will uniquely remain human.
12 I think the only way forward is to look at artificial intelligence developments as an opportunity rather
than a threat. We need a shift in thinking that success is no longer about our level of knowledge but about
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our level of innovative intelligence. If we accept the process of lifelong learning, in which we adapt to new
ways of working as technology improves, we will always find roles that take advantage of our best qualities.

13 Maybe I am overly optimistic, but I also believe that behind every highly intelligent machine will be
humans who help build it, train it, distribute it, advise it, and repair it when things go wrong. And until
machines acquire consciousness, they will have trouble mastering the most complex aspects of human
behavior, many of which we still do not understand.

14 Mr. Yonck agrees. “Social robots will interact with people, not just replace them. Human and machine
will partner to provide services in ways we have not had before, each providing its own strengths,” he added.
15 Personally, I look forward to the day when my work-from-home job is not quite so lonely because Jibo
is keeping me company.

Questions

A. Answer each of the following questions in 1-4 sentences in your own words.

1. Based on Paragraph 2, what field will machines fail to replace humans in and why? (01)

2. Based on Paragraphs 5 and 6, explain how emotional recognition software contributes to the work of
clients and educators. (01)
3. Based on Paragraphs 10 and 11, show whether the panic that human workers have against social robotics
in the workplace is justified or not. Support your answer with two pieces of evidence. (1.25)

4. In reference to Paragraphs 13 and 15, explain how the writer views the future role of robots in human’s life. (01)

B. 1. Identify two different tones in Paragraph 1. Explain your answer. 01)
2. What is the thematic relation between Paragraphs 3 and 4? Justify your answer. (1.25)
3. What three types of evidence does the writer use to achieve credibility? Provide examples. 1.5)

C. The table below shows the percentages of jobs replaced by robots in certain countries in 2012 and 2016.
Read it carefully, and then answer the question that follows. (01)

Robots Replacing Humans in the Workplace

'w United Kingdom Ethiopia * United States China
Year -

2012 30% 60% 30% 40%
2016 38% 85% 45% 78%

What do the percentages indicate about the replacement of humans by robots between the years 2012 and
20167 Explain your answer in 2-4 sentences.

D. Use contextual clues to figure out the meaning of each word in the box below, and then fill in the blanks
with the correct words to complete the sentences that follow. The words are underlined in the selection. (02)

forthcoming (Par. 3)  irate (Par. 5)  rudimentary (Par. 8)  current (Par. 10)  potential (Par. 11)

1. Before you can upload a video, you need to have a/an understanding of technology.

2. Because [ am , I am going to walk away and calm down before I use the new machine.

3. Social robots will have the to replace humans because of their emotional software programs.
4. There will be multiple applications that will address mathematical skills.

E. What does each of the following pronouns, bold-typed in the selection above, refer to? (01)
1. we (Paragraph 2) 2. he (Paragraph 4) 3. we (Paragraph 9) 4. it (Paragraph 10)

Part Two: Writing (Choose ONE of the two prompts below.) (Score: 8/20)

Prompt A: Some people are optimistic that the coming technological and scientific changes will make life
better, while some others think these changes will lead to a future in which people are worse off than they
are today. In a well-organized argumentative essay of 250-300 words, show with which point of view
you stand. Make sure that your essay supports your position and refutes the opposite point of view.

Prompt B: Technology plays a significant role in human's life, but overusing it has many drawbacks. In a
well-organized essay of 250-300 words, explain the statement above. As you develop your essay, focus
on the disadvantages of the overuse of technology.

[Content and organization of ideas 3.5, language and style 3.5, tidiness and handwriting 01]
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Life and General Sciences English Language Exam

A Robot May Be Trained to Do Your Job

Q

Answer Key Score

I-A-1

Machines will fail in the field(s) of teaching and/or caregiving because they are
unable to interact and communicate with their surroundings. 01
(0.5 for the field and 0.5 for the reason)

I-A-2

First, with clients, this program may cool down the temper of an angry manager
who has just received an inappropriate email from a careless client or customer.
This software warns the manager by providing him/her with the high level of
emotions he/she is developing, so he/she needs to breathe and calm before taking
any inappropriate reaction that he/she might regret later on. Second, with 01
educators, the program provides the teacher with information about the student
and identifies the students’ emotional condition during an online course, as well
as, the effectiveness of a tutoring session.

(0.5 for each)

I-A-3

There is no reason why human workers should panic about the invasion of
automation in the workplace. First, these robots will face many problems such as
people’s resistance and power requirements. Second, no matter how much these
robots are developed, they will always lack the ability to innovate, which is 1.25
uniquely human. Third, new technologies need long time before they replace their
old versions.

(0.25 for the first part of the answer; two pieces of evidence/reasons are
enough and 0.5 for each)

I-A-4

The writer is fully aware of the limitations of robots, for she believes that they will
not control human's aspects which are complex as long as they do not have the
awareness needed to do so. However, at the same time, she is hopeful that a time 01
will come when robots can take all human jobs and become a close companion to
humans.

(0.5 for each)

I-B-1

The first tone, expressed by the writer, is optimistic. She reveals a positive attitude
towards the effect robots will have in the workplace. The second tone, expressed
by the writer’s audience, is pessimistic/ scared / bewildered / amazed towards 01
automation: the writer mentions that she often sees the audience “choked” when it
comes to automation in work.

(0.5 for each tone with its explanation)

I-B-2

The thematic relation between Paragraphs 3 and 4 is that of statement-support/
addition. In Paragraph 3, the writer states that Yonck believes people shouldn’t say
never to technology since technology is able to make the impossible possible. In | 1.25
Paragraph 4, the writer supports the same idea by explaining how technology
makes an unbelievable leap with the invention of emotional software programs
that interpret human feelings.

(0.25 for identification, and 0.5 for the idea mentioned in each paragraph)
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First, he uses specific names of robots, books, companies and countries such as in
Paragraphs 1, 3, 8 and 10: "Rosie the Robot", "Heart of the Machine: Our Future
I-B-3 |in a World of Artificial Emotional Intelligence", "Riken and Sumitomo Riko 1.5
Company", and "Clippy". Second, he uses dates such as in Paragraphs 2 and 4:
"ast two decades" and "mid-2000s". Third, he uses experts' opinion such as in
Paragraph 4 and 14: the opinion of Richard Yonck who is an executive director
and analyst about the latest progress of technology.
(0.5 for each)
The table entitled “Robots Replacing Humans in the Workplace” depicts/shows
countries whose human workforce is replaced by robots over a period of time. The
percentages show that the four countries encountered an increase in the use of
I-C robots instead of humans in the workplace: 30% to 38% in the United Kingdom, 01
60% to 85% in Ethiopia, 30% to 45% in the United States, and 40% to 78% in
China. Thus, although Ethiopia scored the highest rank among the four countries,
China made the highest leap in using robots in the workplace.
(any other reasonable interpretation is acceptable)
I-D-1 | rudimentary 0.5
I-D-2 | irate 0.5
I-D-3 [ potential 0.5
1-D-4 | forthcoming 0.5
I-E-1 | “we” refers to the writer and the readers / humans 0.25
I-E-2 | “he” refers to Richard Yonck 0.25
I-E-3 | “we” refers to the writer and Jibo 0.25
I-E-4 | “it” refers to Cortana 0.25
I-A | ideas and organization 3.5
I-B | language and style 35
I-C | tidiness and legible handwriting 01
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